Memory Diagram Walkthrough: |

BankApplication.java

public class BankApplication {
public static void main(String[] args) {
String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance) {
this.name = name; this.acctNum = number; this.balance = balance;

3

public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;

}

public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);

}
private void setBalance(int newAmount) { balance = newAmount;

public int getBalance() { return balance; }

}
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Memory Diagram Walkthrough: 2 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount baZz = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }

public int getBalance() { return balance; }
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Memory Diagram Walkthrough: 3 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P . _w ¢ u,g[] 9) 1 public BankAccount(String name, int number, int balance) {
String name = "Bob Bobson"; hi ) hi N ber: his.bal bal .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
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Memory Diagram Walkthrough: 4

BankApplication.java

public class BankApplication {
public static void main(String[] args) {
String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

}
3
Stack
Param
args
c Local
: (_g | name
startBalance 50000 ~
£ N
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this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance) {
this.name = name; this.acctNum = number; this.balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
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Memory Diagram Walkthrough: 5

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new|BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

Stack

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {
this.acctNum = number; this.balance

this.name = name;

3

public BankAccount(String name, int number, int balance)| {
this.acctNum = number; this.balance

this.name = name;

3

public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);

return newBalance;

}

public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);

b.setBalance(b.getBalance() + amount);

3

private void setBalance(int newAmount) {

public int getBalance() {

balance;

balance = newAmount; }

return balance; }
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Memory Diagram Walkthrough: 6

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new|BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

Stack

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance)| {
this.name = name; this.acctNum = number; this.balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:

acctNum: 0
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Memory Diagram Walkthrough: 7

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new|BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

Stack

BankAccount.java

public class BankAccount {

public BankAccount(String name, int number) {
this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance)| {
name = name; acctNum = number; balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:

acctNum: 0
balance: 0
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Memory Diagram Walkthrough: 8

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new|BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

Stack

BankAccount.java

public class BankAccount {

public BankAccount(String name, int number) {
this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance)| {
name = name; acctNum = number; balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:

acctNum: 0
balance: 0

=~
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Memory Diagram Walkthrough: 9

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new|BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

Stack

BankAccount.java

public class BankAccount {

public BankAccount(String name, int number) {
this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance)| {
name = name; acctNum = number; balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:

acctNum: 0
balance: 0

=~
P
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Memory Diagram Walkthrough: [0

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new|BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

Stack

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance)| {
this.name = name; this.acctNum = number; this.balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:

acctNum: 0
balance: 0
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P
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Memory Diagram Walkthrough: ||

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new|BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

Stack

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {
this.acctNum = number; this.balance

this.name = name;

3

public BankAccount(String name, int number, int balance) {
this.acctNum = number; this.balance

this.name = name;

3

public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);

return newBalance;

}

public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);

b.setBalance(b.getBalance() + amount);

3

private void setBalance(int newAmount) {

public int getBalance() {

balance;

balance = newAmount; }

return balance; }
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Memory Diagram Walkthrough: |2 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000: this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new|BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); publ nt makeDepos t(int amount) {

BankAccount baZz = new BankAccount(name, 102); int fhewBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:
P acctNum: 0
| balance | 50000 | |number| 101 | | name | I balance: 0
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Memory Diagram Walkthrough: 13 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000: this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new|BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int unt) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBulance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:

Param acctNum: 101
| balance | 50000 | |number| 101 | | name | I balance: 0

Local /
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balance | 0 | | acctNum | 101 | | name | \L
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Memory Diagram Walkthrough: |4

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new|BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

Stack

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance) {
this.name = name; this.acctNum = number; this.balance = balance;
}
public int makeDeposit(int amount) { T
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:
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Memory Diagram Walkthrough: |5

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance) {
this.name = name; this.acctNum = number; this.balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:

acctNum: 101
balance: 50000

}
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Memory Diagram Walkthrough: |6 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance =|ba.makeDeposit(20000); public int makeDeposit(int amount) [{

BankAccount baZz = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:
e acctNum: 101
amount :
8 20000 balance: 50000
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% Member
E | balance | 50000 | |acctNum| 101 || name | \L
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* o [ [
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Memory Diagram Walkthrough: |7 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance =|ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount baZz = new BankAccount(name, 102); int newBalance = |this.getBalance()| + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:
e acctNum: 101
amount :
8 20000 balance: 50000
ds' Local
V)
% Member
E | balance | 50000 | |acctNum| 101 || name | \L
Param
args
* o [ [
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= T I N
(o} tartBal 50000
E | Starteaance ‘\ "Bob Bobson"
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Memory Diagram Walkthrough: |8

BankApplication.java

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance =|ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = new BankAccount(name, 102); int newBalance = [this.getBalance() |+ amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
) Param private void setBalance(int newAmount) { balance = newAmount; }
Eé public int getBalance() { return balance; }
Local
S }
A N\
?O Member | | | | | | | | \L \®P BankAccount
balance | 50000 acctNum 101 name __J
\~
name:
. e acctNum: 101
-G | amount | 20000 | balance: 50000
8_ Local /
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=
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Memory Diagram Walkthrough: |19 BankAccount.java

public class BankAccount {

BankApplication.java publ?c BankAccount(Str‘ing name, int number) { .
this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = |ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = |this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
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E; | amoum| 20000 | balance: 50000
o
8 Local
(O]
.Y
o) Member
E | balance | 50000 | |acctNum| 101 || name | \L
Param
args
* o [ [
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= Lo | 7 | —
(o} tartBal 50000
E | Starteaance ‘\ "Bob Bobson"
Member ™




Memory Diagram Walkthrough: 20 BankAccount.java

public class BankAccount {

BankApplication.java publ?c BankAccount(Str‘ing name, int number) { .
this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance =|ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = |this.getBalance() + amount;
ba.transferMoney(ba2, 15000); this.setBal
3 Le-setBalanceln 55500 + 20000 = 70000
return newBalance,
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:
e acctNum: 101
E; | amoum| 20000 | balance: 50000
(ol
8 Local
Q
=Y
o) Member
E | balance | 50000 | |acctNum| 101 || name | \L
Param
args
* o [ [
Local g
= T I N
g | startBalance 50000 \\ "Bob Bobson"
Member ™
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public class BankAccount {

BankApplication.java publ?c BankAccount(Str‘ing name, int number) { .
this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = |ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:
e acctNum: 101
8 | amQum| 20000 | balance: 50000
o
) Local
D | newBalance | 70000 |
(O]
.Y
o) Member
E | balance | 50000 | |acctNum| 101 || name | \L
Param
args
* o [ [
Local g
= Lo | 7 | —
(o} tartBal 50000
E | Starteaance ‘\ "Bob Bobson"
Member ™




Memory Diagram Walkthrough: 22 BankAccount.java

public class BankAccount {

BankApplication.java publ?c BankAccount(Str‘ing name, int number) { .
this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance =|ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount baZz = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:
e acctNum: 101
amount :
8 20000 balance: 50000
o
) Local
D | newBalance | 70000 |
(O]
.Y
o) Member
E | balance | 50000 | |acctNum| 101 || name | \L
Param
args
* o [ [
Local g
= Lo | 7 | —
(o} tartBal 50000
E | Starteaance ‘\ "Bob Bobson"
Member ™
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public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = |ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
) Param ewAmOunt 70000 private void setBalance(int newAmount) |{ balance = newAmount; }
v public int getBalance() { return balance; }
c Local
S }
S \
2 Hea
(O] Member \ P
v [ balance | 50000 | [acceNum | 101 || name |~ N __’l BankAccount
\~
name:
(.\! e acctNum: 101
= | amoum| 20000 | balance: 50000
8_ Local /
8 | newBalance | 70000 | /
9
Member
g | balance | 50000 | |acctNum| 101 || name | \L\
-
Param I
args l
* o [ [
Local g
= Lo | 7 | —
(o} | startBalance 50000 \\ "Bob Bobson"
E Member \\/
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BankApplication.java

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = |ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
) Param ewAmOunt 70000 private void setBalance(int newAmount) { balance = newAmount;| }
v public int getBalance() { return balance; }
c Local
S }
S \
2 Hea
(O] Member \ P
v [balance | 70000 | [acceNum | 101 || name |~ N __’l BankAccount
\~
name:
(.\! e acctNum: 101
= | amoum| 20000 | balance: 70000
8_ Local /
8 | newBalance | 70000 | /
9
Member
g | balance | 50000 | |acctNum| 101 || name | \L\
-
Param I
args l
* o [ [
Local g
= Lo | 7 | —
(o} | startBalance 50000 \\ "Bob Bobson"
E Member \\/
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public class BankAccount {

BankApplication.java publ?c BankAccount(Str‘ing name, int number) { .
this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance =|ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount baZz = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:
e acctNum: 101
amount :
8 20000 balance: 70000
o
) Local
D | newBalance | 70000 |
(O]
.Y
o) Member
E | balance | 70000 | |acctNum| 101 || name | \L
Param
args
* o [ [
Local g
= Lo | 7 | —
(o} tartBal 50000
E | Starteaance ‘\ "Bob Bobson"
Member ™
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public class BankAccount {

BankApplication.java publ?c BankAccount(Str‘ing name, int number) { .
this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
= ) . . . _ . . _ .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = |ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
1
Heap
BankAccount
name:
e acctNum: 101
8 | amQum| 20000 | balance: 70000
o
) Local
D | newBalance | 70000 |
(O]
.Y
o) Member
E | balance | 70000 | |acctNum| 101 || name | \L
Param
args
* o [ [
Local g
= Lo | 7 | —
(o} tartBal 50000
E | starteaance ‘\ "Bob Bobson"
Member ™
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BankApplication.java

public class BankApplication {
public static void main(String[] args) {
String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
ba.transferMoney(ba2, 15000);

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance) {
this.name = name; this.acctNum = number; this.balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
name:

acctNum: 101
balance: 70000

}
ks
Stack
Param
args

_E Local | newBalance | 70000 | f‘!.n

g | startBalance | 50000 | e ‘\
Member

String

"Bob Bobson"
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public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = |new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baZ, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
name: acctNum: 101
acctNum: 0 balance: 70000
balance: 0
Param I
args l
String
c Local newBalance 70000 f
= [rovssimee [ 7000 ] [ [ 7] [
E | startBalance | 50000 | ‘\ "Bob Bobson"
Member ™
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public class BankAccount {

BankApplication.java public BankAccount(String name, int number) | {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = |new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baZ, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
\H, name: acctNum: 101
= Param 102 - acctNum: 0 balance: 70000
~~ number name _ : *
o balance: 0
0O C
o — Local
S b J
c
<z
[ a Member 1 I
(8] | balance | 0 | |acctNum| 0 || name | 1 l
om
Param I
args l
LN Strin
Local g
é | newBalance | 70000 |
g | startBalance | 50000 | \\ "Bob Bobson"
Member ™
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public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount baZ = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baZ, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
= name: acctNum: 101
= Param 102 - acctNum: 0 balance: 70000
~~ number name _ : *
> ¥ balance: 0
0O C
o — Local
S b J
c
<z \
[ a Member 1
(8] | balance | 0 | |acctNum| 0 || name | —
om
Param I
args l
LN Strin
Local g
é | newBalance | 70000 |
g | startBalance | 50000 | \\ "Bob Bobson"
Member ™




Memory Diagram Walkthrough: 3 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = |new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baZ, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
\, name: acctNum: 101
E’ Param 102 acctNum: 102 balance: 70000
o balance: 0
0O C
o — Local
S b J
c
<z \
[ a Member 1
(8] | balance | 0 | |acctNum| 102 || name | —
om
Param I
args l
LN Strin
Local g
é | newBalance | 70000 |
g | startBalance | 50000 | \\ "Bob Bobson"
Member ™
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public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = |new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baZ, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
\, name: acctNum: 101
E’ Param 102 acctNum: 102 balance: 70000
o balance: 0
0O C
o — Local
S b J
c
<z \
[ a Member 1
(8] | balance | 0 | |acctNum| 102 || name | —
om
Param I
args l
LN Strin
Local g
é | newBalance | 70000 |
g | startBalance | 50000 | \\ "Bob Bobson"
Member ™
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BankApplication.java

BankAccount.java

public class BankAccount {

public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P . _w ¢ u,g[] 9) 1 public BankAccount(String name, int number, int balance) {
String name = "Bob Bobson"; hi ) hi N ber: his.bal bal .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
name: acctNum: 101
acctNum: 102 balance: 70000
balance: 0 /
Param I
args l
String
c Local newBalance 70000 f
g [ lomame o | [ [
E | startBalance | 50000 | ba2 ‘\ "Bob Bobson"
Member
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BankApplication.java

BankAccount.java

public class BankAccount {

public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P . _w ¢ u,g[] 9) 1 public BankAccount(String name, int number, int balance) {
String name = "Bob Bobson"; hi ) hi N ber: his.bal bal .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount baZ2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
name: acctNum: 101
acctNum: 102 balance: 70000
balance: 0 /
Param I
args l
O Strin
Local g
é | newBalance | 70000 |
g | startBalance | 50000 | ba2 ‘\ "Bob Bobson"
Member
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public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount baZ2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount)| {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
a e name: acctNum: 101
c IIIII | amount | 15000 | acctNum: 102 balance: 70000
O ’/’ balance: 0
z Local \ /
[ R
L
(%)
c Member ]
E | balance | 70000 | |acctNum| 101 || name | —
=)
Param I
args l
O Strin
Local g
é | newBalance | 70000 |
g | startBalance | 50000 | ba2 \\ "Bob Bobson"
Member ™
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public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {
- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount baZ2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
‘ba.transferMoney(baZ, 15000) ; this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalancedthis.getBalance() ‘— amount);
b.setBalance(b.getBalance() + amount);
}
) Param private void setBalance(int newAmount) { balance = newAmount; }
Eé ‘public int getBalance() { return balance; }
Local
S }
0
% Heap
ember
b0 [ balance | 70000 | [acceNum | 101 || name |~ BankAccount
BankAccount
.. \ name:
a — N name: acctNum: 101
c IIIII | amount | 15000 | acctNum: 102 balance: 70000
o) » balance: 0
Z Local \ /
[ /
Q
(%)
c Member ]
E | balance | 70000 | |acctNum| 101 || name | L—
©
Param I
args l
O Strin
Local g
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g | startBalance | 50000 | ba2 \\ "Bob Bobson"
Member ™
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public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
a e name: acctNum: 101
c IIIII | amount | 15000 | acctNum: 102 balance: 70000
O ’/’ balance: 0
z Local \ /
[ R
L
(%)
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E | balance | 70000 | |acctNum| 101 || name | —
=)
Param I
args l
O Strin
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é | newBalance | 70000 |
g | startBalance | 50000 | ba2 \\ "Bob Bobson"
Member ™




Memory Diagram Walkthrough: 38

BankApplication.java

public class BankApplication {
public static void main(String[] args) {

String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
‘ba.transferMoney(baZ, 15000) ;

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;

}

public BankAccount(String name, int number, int balance) {
this.name = name; this.acctNum = number; this.balance = balance;

}

public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;

}

public void transferMoney(BankAccount b, int amount) {
‘this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);

}

‘private void setBalance(int newAmount)‘{ balance = newAmount; }

public int getBalance() { return balance; }
1
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name: acctNum: 101
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Memory Diagram Walkthrough: 39

BankApplication.java

public class BankApplication {
public static void main(String[] args) {
String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);

‘ba.transferMoney(baZ, 15000) ;

BankAccount.java

public class BankAccount {
public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
}
public BankAccount(String name, int number, int balance) {
this.name = name; this.acctNum = number; this.balance = balance;
}
public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;
}
public void transferMoney(BankAccount b, int amount) {
‘this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { ‘balance = newAmount;‘ }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
name: acctNum: 101
acctNum: 102 balance: 55000
balance: 0
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Memory Diagram Walkthrough: 40 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
a e name: acctNum: 101
c IIIII | amount | 15000 | acctNum: 102 balance: 55000
O ’/’ balance: 0
z Local \ /
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Memory Diagram Walkthrough: 4| BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(ba2, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance()| + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
a Param name: acctNum: 101
c IIIII | amount | 15000 | acctNum: 102 balance: 55000
O ’/’ balance: 0
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[ R
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g | startBalance | 50000 | ba2 \\ "Bob Bobson"
Member ™




Memory Diagram Walkthrough: 42

BankApplication.java

public class BankApplication {
public static void main(String[] args) {
String name = "Bob Bobson";
int startBalance = 50000;
BankAccount bal = new BankAccount(name, 101, startBalance);
int newBalance = ba.makeDeposit(20000);
BankAccount ba2 = new BankAccount(name, 102);
|ba.transferMoney(baZ, 15000);|
}
}

BankAccount.java

3

3

}

Stack

3

this.name = name;

this.name = name;

public class BankAccount {
public BankAccount(String name, int number) {
this.acctNum = number;

public int makeDeposit(int amount) {
int newBalance = this.getBalance() + amount;
this.setBalance(newBalance);
return newBalance;

b.setBalance(b.getBalance() |+ amount);

private void setBalance(int newAmount) {

this.balance

I
S

public BankAccount(String name, int number, int balance) {
this.acctNum = number;

this.balance = balance;

public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance() - amount);

balance = newAmount;

|pub1ic int getBalance() {

return balance;

3

}

}
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Memory Diagram Walkthrough: 43 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(ba2, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
BankAccount
BankAccount
name:
a Param name: acctNum: 101
c IIIII | amount | 15000 | acctNum: 102 balance: 55000
O ’/’ balance: 0
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Memory Diagram Walkthrough: 44 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Bogson"'g[] 9s) { public BankAccount(String name, int number, int balance) {
= ) . . . _ . . _ .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount baZ2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
\ba.transferMoney(ba2, 15000); | this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
Sta.C k this.setBalance(this.getBalance() - amount);
|b.setBalance(b.getBalance() + amount);|
}
Param 2 g g _ .
ewAmount 15000 |pr1vate void setBalance(int newAmount)|{ balance = newAmount; }

public int getBalance() { return balance; }
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Memory Diagram Walkthrough: 45 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount baZ2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
‘ba.transferMoney(baZ, 15000) ; this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
‘b.setBalance(b.getBalance() + amount);‘
}
Param : : : _ 0
) ewAmount 15000 private void setBalance(int newAmount) { ‘balance = newAmount,‘ }
v public int getBalance() { return balance; }
c Local
S }
S
6 Member Heap
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a — N name: acctNum: 101
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é | newBalance | 70000 |
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Memory Diagram Walkthrough: 46 BankAccount.java

public class BankAccount {

BankApplication.java public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P String name = "Bob Boﬁson"'g[] 9) 1 public BankAccount(String name, int number, int balance) {

- ’ 3 . 3 — . 3 — .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {

BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(ba2, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
StaCk this.setBalance(this.getBalance() - amount);
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
Heap
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Memory Diagram Walkthrough: 47

BankApplication.java

BankAccount.java

public class BankAccount {

public BankAccount(String name, int number) {

this.name = name; this.acctNum = number; this.balance = 0;
public class BankApplication { }
ublic static void main(Strin args
P . _w ¢ u,g[] 9) 1 public BankAccount(String name, int number, int balance) {
String name = "Bob Bobson"; hi ) hi N ber: his.bal bal .
int startBalance = 50000; this.name = name; this.acctNum = number; this.balance = balance;
BankAccount bal = new BankAccount(name, 101, startBalance); ¥
int newBalance = ba.makeDeposit(20000); public int makeDeposit(int amount) {
BankAccount ba2 = new BankAccount(name, 102); int newBalance = this.getBalance() + amount;
ba.transferMoney(baz, 15000); this.setBalance(newBalance);
} return newBalance;
¥ }
public void transferMoney(BankAccount b, int amount) {
this.setBalance(this.getBalance - amount);
tack hi Bal (thi Bal O )
b.setBalance(b.getBalance() + amount);
}
private void setBalance(int newAmount) { balance = newAmount; }
public int getBalance() { return balance; }
}
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